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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Student ID, Q.P. Code, Question Booklet
version code and affix signature on the OMR sheet. As the answer sheets are designed
to suit the Optical Mark Reader (O.M.R.) system apeolal care SM taken to fill
those items accurately. ; "'\_

4. This Question Booklet contains 70 questjéns. All questions must b_e;attempted.
Each question contains four answers, among them one correct answer should be
- selected and shade the corresponding optg::\the OMR sheet. .

5. All the answers should be marked only on the OMR sheet prowa‘éd and only with a
black or blue ink ball point pen. If more than one"“rrd@“fs"ﬁaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. The food chain ends with
A) alarge herbivore B) an omnivore
C) a carnivore D) decomposers

TG0 AOTGU 297 BRI IT.

A) BRE =m0 B) 2080
C) ShomTod D) Q538 226

2. Detritus food chain starts with
A) Sunlight B) Green plants
C) Consumers D) Detritus

BRYER STOT A0TP QWO T2,T0LTMIY) .

A) ZR0DFS 3B B) @t A@ngd
“6). sodrenngd D) greosos sxoned

3. Identify the man-made ecosystem.

A) Aquarium B) River
Q)_{_f,’ eam D) Ocean
e 20>F S ToRd Ytoda Rodoss,

A) QeZR8 B) =0
C) Eng D) mnd

4. The pattern of eating and being eaten is known as

A) Food web B) Energy flow

C) Food chain D) Ecological pyramid

WOTO Te000T BEROT e ST TP STOBH 303003 DTG,
A) 30 o B) Z8oh moxy

C) s0 30T D) =033 a0as*
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5. Herbivores are examples for
A) Producers
C) Secondary consumers
:}mﬂméﬁvﬁa R QUTRTUR.

A) ©0ZTEI
C) Q8o YIEFTO

4- M

B) Primary consumers
D) Decomposers

B) TR,3a08 BEE
D) 338 t3eaunsd

6. Taj Mahal at Agra may be damaged by

A) Acid rain

C) Hydrogen

Shptwis]escy S BT E:E\E"%
A) & =%

C) wonss

7. Blue baby syndrome is caused by

B) Natural rain
D) Oxygen
B) :.:ﬁ_:;.;;:s =%
D) &=0uss

B) Air
D) Nuclear hazard

B) m%

D) R0RI0ED S,

8. Sound becomes noise pollution at decibels

A) Above 30
C) Above 100

(]

Bws 22,006 3TN S WO
(%]

w

A) 30 %&03 Gk

w3

A =Zad
C) 100 gc= 2,

B) Above 80
D) Above 120

o

B) 80 808 )

>
(2]

D) 120 Eéoé LY

w3
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10.

i 9. Environmental pollution refers to a in the atmosphere.

A) Desirable change

B) Undesirable change

C) Drastic change

D) Slow change

Explevebpleleaimiuny ooy ©E) WO SRy DT,
A) &0 WEHTE

B) 3k wocen=

C) 3em wenwms

D) 3to3 woess

The first and foremost purpose of the Wildlife Protection Act is to

_A) Protect the habitats of wild animals

B) Protection forest from wild animals

C) Legalise hunting

D) Protection of human beings from animals
Iz RoogE FoowTen B0 NT3e

A) TZwens SRR AoTFE

B) Sgweinyos Sieo) #oo’iﬁ

C) zjeéﬁomda@dsi ammwﬁmm@m

D) Sgweansod TRTFIR TR
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11. The region of the earth surface inhabited by living organisms is

A) Atmosphere B) Lithosphere
C) Hydrosphere D) Biosphere
&eaﬁ@:&q&ﬁmow PRNOD BRT JTO

A) odonies B) dcorine

C) monped D) Remrine

12. Major aim to include Environmental studies in education system is
A) To conserve the environment
B) To improve the quality of society
C) To protect wild animals
D) To conserve plants
TORT B,0NITT 0 8T I :S‘a,o@ OVDRRATOT =00, ), QUT3ET
A) wJéf\Jd wJ‘“SM?a'TQﬁ
B) ssn%s mmmmdw w&%-‘ DT
C) szgueany "'Cdﬁf*'TJ \
D) mzne z’cdigémﬁ

13. The development which causes minimum damage to environment is
A) Rapid development
B) Sustainable development
C) Progressive development
D) Slow development
TORTE, 8,08 BB TROIVLITRTIT SN C‘)ﬁ DTZC.
A) de 3*‘% Si
B) :bﬁ'gpd ORI

C) Insdeo w530

v &

D) o3 930
&
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14. The World Environment Day is celebrated every year on

A) 1% January B) 5" June
C) April 22 D) June 11
T TR O, WORT DTWTEODT, Towd &30 ¢S,
A) %330 1 B) znv 5
C) oo 22 D) ez 11

15. Medha Patkar is known for
- A) Chipko Movement
B) Appiko Movement

Save Narmada Movement

~Save Western Ghat Movement
a'be P YO" B3 BTN VAT
A) e wbmecnon
é) BBRe BRREWT
C) IOFme o9 wWeEeoided

D) =s0ogresns'a soa websecioos

16. London smog causes

g A) Difficulty in breathing B) Difficulty in drinking
C) Difficulty in digestion D) Difficulty in excretion
VBT W LT SOCERTIBT.
A) 20ATHRT o8 B) s&8g Srot
C) eerards Eeowd D) Q%wedn 30038
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11. The region of the earth surface inhabited by living organisms is

12

13.

A) Atmosphere B) Lithosphere
C) Hydrosphere D) Biosphere
ﬁe@ﬁ@?&g@ﬁmod 23R000D BT JWS

A) Todonee B) dorieee
C) wenne D) 2eSnieed

Major aim to include Environmental studies in education system is
A) To conserve the environment

B) To improve the quality of society

C) To protect wild animals

D) To conserve plants

TORT &G, CDTDI) 88ed qﬁzﬂ;:oq”:mawwx o0, YLTET

A) TORT RoTFFMN

B) Rurnes noasiussmm SURRTO

C) :3"53:'5“714 RoTERWN

D) ==n¥ RoTgEon

The development which causes minimum damage to environment is
A) Rapid development

B) Sustainable development

C) Progressive development

D) Slow development

w@:bg aai,c'e“ 303> TOVOIVCLVTRTT LR on PTZT.
[ow]

o -0

A) 3¢, VT
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18.

19.

The name Maneka Gandhi is related to
A) Protection of Animals

B) Silent Valley

C) Chipko Movement

D) Narmada Bachao Andolan

WNET MROH TATL FoWQRAT

A) 2,63 FoTER

B) zotr w9

C) wdpe sorinews

D) S@0F TR WIRPC BOBROT
Petroleum is what type of energy resource ?

B) Synthetic
D) Non-renewable

A) Inconvenient

C) Renewable

TR eDCde IR De80l Tt ROTIRVTNT ?
5 5
A) SIVTRO B) 328
~
C) 3INBOIWTOTD D) SDesomcand

Which of the following pathogens cause AIDS ?

A) HAV B) HIV

C) HBV D) HCV

33 BPNT 0IRT TREMEd 0T Sent, 59089 2

A) BeF.0.8. B) &.0.8.
C) 3. 2.8 D) &w°.2.5.

O A
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20. What is the aim of the project ‘Stree Shakthi’ ?

A)
B)
C)
D)

Promoting the birth of girl babies
Giving bravery awards to girls
Empowering women economically
Uplifting the energy level in women
3’ @,?ﬂﬁi{ﬁ wﬁ@ezﬁem ?

T2 WOTVAT WRD@m0, YVT CRITIT0
—
(o8]

2%, The first Hydroelectric Project in Western Ghats is

2,

A)
C)

L] 3\ & - —~ —
ﬁ%ﬂ;’n@&ad RBRTO BOAWLS* 0l
3 ) 3

A)
C)

Sharavathi Project

Bakhranangal Project

Soond odrend

b ;
WFIoNT® adees
9

B) Varahi Project
D) Silent Valley Project

Serious environmental impact of Tsunami in Japan is due to

A)
C)

Earth quake

Sea waves

B) Nuclear accident

D) Volcano

WTAIE, ROTDIOWOTIT TF0S) TR0 QBTN

A)
C)

LIRTOT
ADOTT 2SN

B) &0x0ee0 TR

D) 23 e93202)
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23 The major effect of global warming is
A) Animals will die
B) Aquatic plants will die
C) Crop production and yield will be decreased
D) Glaciers will melt and sea level increased
(PRPETT YT wcﬁd =0, O
A) TN W)
B) weucne o)
C) 3x TR, 253
D) =300% 300 ARVTT ;Sa&,sdq’;)bﬁ'

24. Acid rain causes

A) Noise pollution B) Air pollution

C) Thermal pollution D) Soil pollution
Coelrel oad#%owmmgcs

A) '5wwf>533'.1 B) o030 RO,
C) 2 IR, D) ':’DE’J;_:ﬂJ?.S“;

o5. Geothermal energy comes from
A) Wind
B) Heat inside the earth
C) Burning coal
D) Sun’s heat

3 = o\ o )
(AN 3‘3%‘5‘\% 000 ud:_»:’éw

A) ™%

B) %» «503T0% ToSV
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26. The Red data book is published and updated by
A) International Union for Conservation of Nature (IUCN) and Natural Resources
B) NGOs of local area
C) CITES
D) Govt. of India
S° LR PFBT TFOTTOO TR B EBOROYTO
A) Q0BT TIISCT CIRICT FBT° IR TS ST SN0 S0 W0’ ORRET’E
B) ,t3¢8% &°. 23, . NE0
C) 2.%0.8.3.07°.
D) tpU3 a5 T

27. Shola is

A) The vegetation of valley

Ri%r i) ~.B) Coniferous forest

» | ~ _ -€) Plants grow near sea coast
D) Endangered species

__;tfees; QIRFYT

e T A) BEFRIOL TR

==""  B) gdnersRoontoy mmd
C) R@0TEe0nd t3Fotos AN
D) £50330 &088QTRs 26 Beien

- 28. Total 40% of endemic plants of India are in

A) Eastern Ghats B) Western Ghats
' C) Deciduous forests D) Himalayan region
WPUSE Seswn 40 T, FeoD Ty erne TR
A) TpRF PUNWD B) w95 peanicd
C) «8 THdRS TR D) &mnocdh ZTes

SPACE FOR ROUGH WORK



96012 A2- (A

29. Example for In situ conservation

A) Botanical Gardens B) Zoo
C) Biosphere D) All the above
20> 3¢S RoTBHN U0
A) RARTE B) 9,63 RonTe Slove)
C) Re[NR D) S0edT QWP
30. Biodiversity is more in
A) Terrestrial habitats B) Fresh water habitats
C) Marine habitats D) Desert habitats
| A) 3on003 508 B) 2%2¢08 SSNYY,
C) ARNTT JENFL, D) S50¢R00P SSnSE,
31. Which one of the following is an example for an artificial ecosystem ? 5;’;‘:""
A) Pond B) River
C) Paddy field D) Grass land
1 e BENRIREE. IO 38 HORS I 10T PUTRECFEIRNAT ?
A) %3 B) =&
C) WSBW N3, D) BoeQrwRe?

-

32. Separate the abiotic components of the ecosystem.

A) Plants, Animals B) Organisms
C) Organisms and Water D) Light, Air
TORT %ﬁ%m@mw@Jaﬁ LTS T

A) RN, THEIND B) 2eaned
C) ReTE I8 VET D) t3&s, o9

SPACE FOR ROUGH WORK
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33.

34.

35.

Identify the decomposers.

A) Frogs B) Algae
C) Bacteria and fungi D) Plankton and algae
VWY Lzpess zaeamf;si T8

A) IIN B) @ownsd

C) 3 3s00dm 303) dSeognish D) Zeoaneh w03) moedneh

The numbers of these are the largest in an ecosystem.

A) Producers B) Primary consumers
C) Secondary consumers

RO=T Qjﬂmazc‘l BRING Tosg, wae T,
A) BTFD B) 508 @xdeinennsd
C) Q8eod wabgdreAnsd )

D) Tertiary consumers

D %éeoc’o N StATnldalatsy

The environment includes

A) Abiotic components only

B) Biotic components only

C) Biotic and abiotic components
D) Water and air

TOITR) VT, WIRORT.

A) ST FUBNTRD SRg

B) 28 pessnvs wng

C) weuE 0=y wef 7 spesened

D) e85 =58 v

96012
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36. Migration is
A) Movement from one place to other
B) Periodic movement back and forth between two areas

C) Change in habitat

D) Living in one place

BB SN

A) .00 3BOWT QRROTI FER BRI

B) «0®> 031 305 DoBRBTRN TN WO
C) %mﬁdqwd@:ds—’é’

D) w.otde ﬁﬁd@ﬁﬁea:ﬂo@da

o

37. Man-Tiger conflict is often reported in

A) Tripura B) Kerala C) Tamil Nadu D) West Bengal
2IO-TRIRD &%&3& STRR STOOIRNTT T
A) 820 B) 0¥ C) SRR D) ﬁéw;i) WorR®

38. What is Ex situ conservation ? ;
A) Conservation of a species by protecting its habitat along with all other living
species living there
B) Conservation of forest ecosystem
C) Conservation of a species outside its natural environment

D) Conservation of plants
20 3¢ ROTBS Q0TITER0 ?
A) STHREOTID Blesndad
B) @on, BORT FWASD oo

C) a:ij#hré SoR30 ER0R BYers RoT %

G
e
£l
o3
Gl
(@8
&
-
ti
="
(L
g.
(ol
b
2L
O
L]
%}L
d

als

D) RRRY AT
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39.

40.

Tsunami is caused by
A) Earthquake on land
C) Sea bed earthquake

ROTO 00T eosRNB.
A) 308 00T Pedoss
C) Nam:‘ 39‘5 ?.;i;u Caled

Biomedical wastes are generated from
A) Hospitals

C) Dyeing units

2o F@deaDd TWBND

A) e=3nied
C) we 83 $ecr

41;_ January 24" is celebrated as
“S/A) Mother's Day

C) Children’s Day
2RO 24 Towd

A) =ng OF

C) =3¢ o

. Expansion of HIV is

A) Human Invitro Virus
C) Human Impotent Virus

A) a‘:ig:i:ﬁf QT NEER, a:g'o’v
C) araa.daa‘ QopEdos %d;-:ﬁ

saﬁa:}samgd

96012

B) Tidal waves
D) Volcanic eruptions on land

B) 3R0TT vowp-39@ eensd
D) 23m0od oed 10 e 2RBEIT

B) Chemical industries
D) Atomic power plants

DO YUBSCIRNIBT.
8T ) =0

B) oomotdds reodns
D) Zo=eew m@ddﬁ@o

B) Republic Day
D) Girl Child Day

B) Human Immunity Variability
D) Human Immunodeficiency Virus

B) @a,&05° 9sn.aed Seoodendis
D) ®p=05° vmun deel 803k S, Ho=
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43. GIS stands for
A) Geographic Information System
B) Geological Information System
C) Genetic Information System

D) Global Information System
22.50. 95" POTT

A) BodRmaT ORBREBF T ARRT
& e
B) B03ReRIE B 263305 ST ARPT

= &

C) 2¥dess® DRREF ST ARRT

= \ ——— = 5 =
D) R 23 ReHOF BT 2RTT°

=
el

44. What is WHO ?

fat
A) World Human Office I,'“ ;
B) World Health Organisation ‘\ |

C) Wide Human Organisation

D) Wild Health Organisation

5 —— 5 ) et
e . B b 0TTED ?
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45. Indian Government declared as ‘Women Empowerment’ year.

A) 2001 B) 2010 C) 2005 D) 2011
LTS BTy TREDZ, ‘W&o RISy TRETOTD TR,
A) 2001 B) 2010 C) 2005 D) 2011

46. Forest Conservation Act enacted with the object of
A) Avoid deforestation
B) Encourage afforestation

C) Conservation of forest

D) Encourage reformation

T ROTBES ToOWTIOL s
A) ©08, T BRI
. B) ©0E,T0eT, YUY
N ®) ©Te, #oo’éﬁ TRBOTO

. D) T w0t 8008 ez

&) 47, In India endangered animals are listed in
= A) Envireriment PYSISER Act, 1986
B) Wild Life Protection Act, 1972
C) Forest Conservation Act, 1980
D) Indian Forest Act, 1982 (revised)
09, {RUSE £9m03RATE &,58ne e [T,
A) TOXT FoTsEe T2, 1986
B) Sgze ROTBE TOWT, 1972
C) e:adeaa, ﬁoﬁm Fo00T, 1980
D) oTseodd T, #od‘im F2020T, 1982 (d@sgbﬁo@
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52. Forestis a
A) Renewable resource
C) Artificial resource
TR LoD

A) mam@
C) ga’d#oaﬁqp

53. Flood is
A) increase of water in water bodies
B) increase of silt in river
C) increase of silt in ponds
D) encroachment of land by water
T® 0TT
L A) 2003 S30NTE 2603 o83 0%
- B) S0neS Tesd o008
£) 0¥ @eeh Bocwndd
<. ¥ D) 3o wengImrORR
_ 54. Natural cause of deforestation
A) Forest fire
C) Mining
30208 SDRARINL . pleta
A) 2D
n w
C) nedrmod

55. Present total Forest area of India
A) 12% B) 15%
TSE TR W), e:sds% Re
A) 12% B) 15%

B) Non-renewable resource
D) Exhaustible resource

B) SRe808eRNS BoTIRL

D) s»Octnns Hewmtne

B) Over grazing
D) Construction of dams

B) SoecuesTen
D) e dmnres

C) 17% D) 19%

C) 17% D) 19%

96012
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56.

57.

58.

Gas associated with Bhopal gas tragedy was
A) Phenyl iso cyanide

B) Methyl iso cyanate

C) Benzene

D) Chloro fluorocarbon

C) B e

D) 3R¢e0n¢ TRTRBWES
Chernobyl nuclear disaster took place in the year
A) 1908 B) 1986 C) 1970

WPV JR.30DT TOT0S ROLRIAT SRF

A) 1908 B) 1986 C) 1970

The following is not a layer of the atmosphere
A) Troposphere

B) Stratosphere

C) Mesosphere

D) Thermosphere

= F9NT og,ﬁviz RRYTD T OI0NRRTT E’ddﬁg?
A) @reped A0IT

B) = jmai'::,:

C) Q0eRReAcDT
D) F&ereacdo

A

D) 1980

D) 1980 ¢
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59. Air pollutants on mixing up with rain water make it

A) Acidic B) Basic

C) Neutral D) None of these

TR0 TOTFTFNED TP VeOTE FeTOFY OB LoerwnoBT

A) 500000 B) S=v,c0¢0®

C) Ecir%&gc‘ D) csngme oy

60. Acid rain is caused by increase in the atmosphere concentration of

A) O, and CO B) SO, and NO,
< C) SO, and CO D) CO, and CO
532 WO T CINTRTE 54 IINTYNTY, TN $¢00,BTRATR FTOT
YUOERTZT.
A) O, =2 CO B) SO, @3 NO,
C) SO, =x2; CO D) CO, =83 CO
61. Green plants of an ecosystem are also called
~A) Heterotrophs B) Autotrophs
| C) Primary consumers D) Chemotrophs
Saerte] ﬁdd:ioda AT ?\,“fé,r{ejsii QOT FBOX0BVT.
A) a:ai TPCAB eI B) = odogpead weansd
C) 2,308 ITF00 D) Tompodods e 3enso
J 62. one of the most endangered species of Indian bird.
A) Bee eater B) Paradise fly catcher
' C) Owl D) The great Indian Bustard
| ROREY, 3,03 iy A IR EouRIT Y, |
A) B0 a8 B) w0ds 3, REc |
C) ned D) & riees olola WREE

SPACE FOR ROUGH WORK
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63. Which animal of the following is not endemic to Western Ghats ?

A) Lion Tailed Macaque B) Nilgiri Thar
C) Malabar great hornbill D) Langur

25 3N IR TAFOPUE TRT TN 7

A) 20T9T B) Re0nd 2T
C) Rowes’ Res T FRT D) 0=

64. The type of forest found near sea shores is

65.

A) Mangrove forest B) Deciduous forest
C) Evergreen forest D) Thorny forest
ABNTT BYT AN T

A) F0T TR B) ¢ «umbimns B
C) 2=, aa’acg:sard T D) zﬁwgfﬁctéc::: nD

Biodiversity hotspots are

A) Have more endemic species

B) Have more number of population

C) The organisms at hottest places of world
D) Only present in the sea

2263 a%éac_ﬁgécd:‘ SSneEd

A) T T,08800 TIeTnemy, BRODT

B) 2up wWER03, 00T DRODT

C) asxa’ CENIES Esfale SRETEO

D) ZR0TTE TR Rlobr oM

SPACE FOR ROUGH WORK
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66. Alternative energy resources are

—

<

A) Solar energy B) Petro| energy
C) Diesel energy D) Mineral energy

Eslostove FROTIRS DA
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67. Fresh water in the hydrosphere is percent.
A) 25 B) 30 C) 13
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P&. Earth Summit 1992 was helq at
2 A) Rio-de-Janerio B) Stockholm
SHC) New York D) Geneva
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69. The basic functional ynit in ecology is

A) Organism B) Environment C) Ecosystem
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70. The term “Ecosystem” was first coineq by
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A) E.P. Odum B) S.A. Forbes C) Karl Mobius D) A& Tansley
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